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(NITI72 40) C++ N1DIN — ‘N 77N

ANITI72 20 — A7NW 707) 2—-1 NI7TNWA "2 DNX 7V Ny

1 N7INY

PDONPI TPIPND PD

int what (int numl, int num2, int num3)

{

if (numl == 0 && num2 == 0)

return 1;

if (numl%10 + num2%10 != num3)

return O0;

return what (numl/10, num2/10, num3) ;

:DININ D2V DY TPXPNI9N NN DN PN N

numl = 1234, num2 = 9876, num3 =10
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NI PDONPIN PPN IN 2IND

int isArrayRepresnetgNum(int arr[], int size, long num)

size TIVNN PN 190N NN ,1I90 NI 1A DN IOV arr TIVNRN DN NOIAPN 7PN
ININY 29D pum IODNT NN AN TN ONX 1 PINN 7PN .aum DIV 21N 190N
.0 PINN TPXPNOT NINN VY

2 NNV

INID X PN9N IN 1IND

int allWordsHaveSameLetters (const char* str)

222 NMNY 1PN L,TAXR NN NINAD ¥ IR0 1D PA) D20 1N N2 NNIND NJAPN DdXIPNN
PINN TPIPNAN NINN,PPTI NVMIN JTMIN DIN 19D 007 93 ONX | PINN HdIPNSN (NNVP NPMINGD
AN DYDY 91D 19N DI NPMND DY MNN 19010 . 0

TIINDNT
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ANIT71 20 — N7RY 707) 4-3 NI7RWN '2ap NNX 7Y M1y

3 n7NV

:Baby NPONNN DOOPPIIN INMNN main 00D

void main ()

{
Baby bl ("gogo") ;

bl.print () ;

Baby b2 ("momo") ;

b2 .print () ;

Baby b3 (bl) ;

b3 .print () ;
b2 = b3;

b2 .print () ;

b3 .print () ;

:MDINN NXIN HY VY YD

ame: gogo Id: 1888 <(IdGenerator: 18681>
ame: momo Id: 1881 <{(IdGenerator: 1882>
ame: gogo Id: 10882 (IdGenerator: 1883>
ame: gogo Id: 1881 (IdGenerator: 1883>
ame: gogo Id: 1882 <{(IdGenerator: 18@3>

19INT NN NN 90N DV W Baby DI®Y0N MINWNYY MINID 112X 100 VIS main™n N¥IN 2979y

DUMIVIN

AXINY VAN NN NPT DI main™2 THNN ,THPNVON 71NN NSV PANY 7D Baby APONNN NN 2ND
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4 N'INW

1IN VI PN N AIND .main™) MPONN >NV 2PN TP YOP PN

#include <iostreams>

using namespace std;

class A

{

protected:
int x;

public:

A{(int x) : x{(x)

cout << "A::A xX=" << X << endl;
A (A& a)
X = ++a.x;
cout << "A::A(copy) xX=" << X << endl;

virtual ~2A()

cout << "A::~A X=" << X << endl;
virtual void foo () const
cout << "In A::foo xX=" << X << endl;

}

void goo () const

{

cout << "In A::goo X=" << x << endl;
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class B : public A

{

int vy;

public:

B(int a, int b)

{

X++;

cout <«
~B ()

y *= X;

cout <«
void foo () const

cout <«
void goo () const

cout <«

"In B::foo x="

"In B: :goo x="

<< X << " y=" << y << endl;

<< X << " y=" << y << endl;

<< X << endl;

<< X << endl;
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vold main ()

{

A* arr[3];

arr[0] = new A(5);

arr[1l] = new A(*arxr[0]) ;
arr[2] = new B(1l,2);

for (int i=0 ; i < 3 ; 1++)

arr[i]l ->foo () ;

arr [i] ->goo () ;

B b(*{(B*)arr[2]);
b.foo () ;

b.goo () ;

for (int i=0 ; 1 < 3 ; 1+4++)

delete arr[i];

cout << "bye\n";
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LIBRARY ileee;

TPNIOD NN Nwnnnn VHDL Nowa (one_bit) 10N 799

(nITI71 60) VHDL — 2 77n

ANITI72 20 — A7NW 707) 10-5 NI7NWA |'aN WI7YW 7V N1y

USE ieee.std logic 1164 .ALL;

ENTITY one_bit IS
PORT (inl,in2,Cin
opcode
result, Cout

END ENTITY;

ARCHITECTURE gen OF one bit

BEGIN
PROCESS (inl , in2
BEGIN
CASE opcode IS
WHEN "00" =>
result
Cout
WHEN "01" =>
result
Cout
WHEN "10" =>
result
Cout

WHEN OTHERS
result
Cout
END CASE;
END PROCESS;

END ARCHITECTURE;

IN std logic;

:IN std_logic vector

OUT std logic) ;

7

==

< =

<=

Cin ,

I8

opcode)

(1 DOWNTC 0) ;

inl and in2 and Cin;

lol;

inl or in2 or Cin;

IO|’.

inl xor in2 xor Cin;

(inl and in2 ) or

Ill’.

lll;

(in2 and

Cin

)

or

(inl

5 N7INW

N ("7 8)

and Cin

) ;
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DONSINM AN DX DOV 5 NONRYD TN Y00 DINID DNNXOT DN TNIAINND pnvn

.Cout™ result

bps s0pm 80.0ns 1200ns 1600ns . 2000ns

E
nl ]
2% |
opcode § o0 X 01 X 10 X 1 b4 00 )4 0 X 1 3

5 NYNVY 91N

:DTIPN PYOIN one_bit TIPA NUNNYNY tar_5 TMINMNN MM .2 (VP 12)
LIBRARY ieee;

USE ieee.std logic 1164 .ALL;

ENTITY tar 5 IS
GENERIC (width : natural :=4) ;
PORT ( cin : IN std logic;
inl,in?2 : IN std logic vector (width-1 DOWNTO O0) ;

opcode : IN std logic vector (1 DOWNTO 0) ;

result : OUT std logic vector (width-1 DOWNTO 0) ;
cout : OUT std_logic );
END tar 5;

ARCHITECTURE gener OF tar 5 IS

COMPONENT One_bit IS

PORT (inl,in2,cin : IN std logic;
opcode :IN std logic vector (1 DOWNTO O0) ;
result,cout : OUT std logic) ;

END COMPONENT;

SIGNAL carry vector : std logic vector (width-1 DOWNTO O0) ;

BEGIN

a0:one bit PORT MAP (inl=>inl{(0) , in2=>in2(0) , cin=>cin ,
opcode=>opcode ,

result=>result (0) , cout=>carry vector(0));

-9
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altoan: FOR i1 IN 1 TO width-2 GENERATE

al: one bit PORT MAP ( inl=>inl (i) , in2=>in2(i) , cin=s>carry
vector (i-1) , opcode=>opcode , result=sresult(i) , cout=s>carry
vector (1)) ;

END GENERATE;

An:one bit PORT MAP (inl (width-1) , in2(width-1) , carry vector (width-2)
, opcode , result(width-1) , cout);

END gener;

tar_S 1MOINN >TTOY INIVNHY 1IDINN DX INDND OYWAN PNITHa VVID

DIVIDN 23 DY DIPMIPIN IMND MNY DI TIN NI VIVID BY TOPN

6 NNV

:(tar_a) Ovwa VHDL nova n»on ond
LIBRARY IEEE;

USE IEEE.std logic 1164 .ALL;

ENTITY tar a IS
GENERIC (vec in : INTEGER:=4) ; -—4 DY
PORT (
d in : IN bit vector (vec_in-1 DOWNTO O0) ;
d out : OUT bit vector (2*vec in-1 DOWNTO 0)) ;

END ENTITY;

ARCHITECTURE behav OF tar_a IS

BEGIN

PROCESS (d_in)

variable one : BOOLEAN;
BEGIN

IF d in(vec _in-1)='1"' THEN

one := true;
ELSE
one := false;
END TIF;
FOR 1 IN vec in TO 2*vec in-1 LOOP --19 N

- 10 -
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IF one THEN

d out (i) <= '1°';
ELSE
d out (i) <= '0';
END IF;
END LOOP; -=25 MY
d out (vec in-1 downto 0) <= d in (vec_in-1 DOWNTO O0) ;
END PROCESS;
END ARCHITECTURE;
GENERIC (vec in INTEGER: =4) ; .4 MY NN I20N

(25-19 MMVY) NI TIPN YOP YSINY MNYOT NN IND
FOR i IN vec in TO 2*vec_in-1 LOOP

IF one THEN

d out (i) <= '1';
ELSE
d out (i) <= '0';
END IF;

END LOOP;

NXIDT AND NN OOWM L6 NORYI NI AN 0NN NNNROT NN THHIANDY PNyn

ANINN AXND DNNNA tar_a N2IDINA NIXINDA NOIVNN MY d_out

Dips d{}? ns 89,}1 ns Il‘ﬁéﬂ ns 160.0ns
din ¥ 0 X 0107 YR 7100 Y
dout ¥

6 NONRVY N

tar_a 1INN >T7DOY WINNA 120970 NPr>TAD (Test Bench) TP 210D
TN PRY DOMIVINT OXANNN DI DX 71T, 10 nSec 90 MNWH d_in XIAND MNRY NN

L ASSERT — nTMpoa1 wnnwid

11 -

N (P 2)
A (Upma)
2 (P 6)
g Up8)
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7 NINW

7 NYRWYY PRI NININNN TPNTN NOWHNN DX DYnnnin VHDL nawa mdn 1nd - X (7P 15)

DD VIOY TNIRT Y TR RO rstclk X :TINEID IvIdY 1’1 noIyna

clk

AL

X N2 NOIWYN Y[2..0]
‘ (Daxn NNON)

rst

7 NORWY YN

NDIVNN MIANIND 123D DM PiD
: NI (clk) Py n»Ova nann 1
X =073y 1200 MM s0 «— $3 — s
X =172y 1200 MM s0 — s4 — s2
ANNN DY AN TIPN NI NOIWNN XXM .2
(Y = 000) sO >N5NNIN 2315 NINN DNOIWNT,ONDPON) rst = 1 IWND .3

.0 2312 NININ NOIWND L(X) PONN NN NN DIVYND NOIWND NOW TOonNd Ox - 4

NIANOY NMINA INNN NIIYHN NI NN NINDDA ("MYIA7) DXIAND DNHVXROT LVVLID .2 (' 5)

N PyD2

-12 -
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8 N'INW

(tar_8) D>xn NN NIRNIN VHDL novwa Aaxan ndina anm

LIBRARY IEEE;

USE TEEE.STD LOGIC 1164 .ALL;

ENTITY tar 8 IS

PORT ( clk : 1IN std logic;
rst : IN std logic;
v : IN std logic;
x : OUT std_logic_vector (2 DOWNTO 0))

END ENTITY;

ARCHITECTURE smachine OF tar 8 IS
TYPE states IS (s0,sl,s2,83,s84);
SIGNAL currentS : states;

BEGIN

PROCESS (clk,rst) IS
BEGIN
IF rst = '1' THEN

currentS <= states'LEFTOF(S1) ;

ELSIF (clk'Event AND clk = '1') THEN
CASE currentS is

WHEN S0 => IF y = '0'" THEN

14

--16 nmvw

currentS <= states'RIGHTOF (S0) ;

currentS <= states'RIGHTOF (S1) ;

ELSE
END IF;
WHEN S1 =»> IF v = '0' then
currentS <= 8
ELSE
currentS «<=
END IF;
WHEN S2 => IF v = '0' then

- 13-

3;

states'LOW;
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WHEN OTHERS

END CASE;

END IF;

END PROCESS;

WITH currentS SELECT

X< =

END ARCHITECTURE;

—————— TAR 9A-----
PROCESS

BEGIN

IF (reset='0")

wavel<="'1";
wavel<='0";

waveld<="'1";

HOOl"

llOlOll

”011"

lllOOll

I|OOOH

WHEN

WHEN

WHEN

WHEN

WHEN

currentS «<=
ELSE
currentS «=
END IF;
=>

currentS <= s0;

s1,
s2,
s3,
s4,

OTHERS;

s0;

states'HIGH;

-=32 My

SN2 nN DX PRI Moore 1010 IX Mealy 21010 NN N1DND OXRD

rcurrentS <= states' LEFTOF(S1); Typn D¥ 16 nMwa DININNN A2Ioan >nn

rcurrentS <= states' HIGH; TYpin D¢ 32 v DININND 0290 0N

31000 SV (MIvIa? DNYINOT) DXANNT NNNNOT NIN VVLID

THEN

-TAR_9A vy VHDL nawa Tip yop )Im

(reset,x,int,clk 50,wave3l)

- 14 -
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ELSIF (clk 50'event AND clk 50='1') THEN
wavel<=int;
wavel2<=wavel;
IF x='0'" THEN

wavel3<=int AND wavel;

ELSE
waveld«=wavez;
END IF;
END IF;

zlk<=wavesd;

S5¢ (M1PX91°0N) TNTIN NMTINN YININY DIRNNY TININT DX D3YN DYIN MYNNNI IND
TP
,Gated Latch (Flip—Flops) D*2357 ,0°M2 ,0yYY O YIINN TN TMYID DXTmyy 02100

D250 DY VIPNIMNM NNNPOD 00T [ Tri-State 2729

2295 D301 D239 922 NNV TNS PR NN

TAR_9B mwyw VHDL nova mip yop o> 2 ('3 10)

PROCESS (p,d,c)
BEGIN
IF p = g THEN
y <= '0' ;
ELSIF c'event AND ¢ = '1l' THEN
y <= a OR b ;
y <= a AND b ;
END TIF ;
END PROCESS ;

u <= a WHEN y = '1' ELSE b ;

D>2>297 TP NNNT YIDIND DONNNY NN IN 23Y0 DOYIN MYSNNI IND
,Gated Latch (Flip-Flops) D2327 ,0°772 ,D>YVY DN YNNI TNSD TV DTy
D290 HYY VIVPNM NNNIPOD , DTN |, Tri-State Y209

255 DYI1D1N D209 931 WNNWND TNNX PR NN

- 15 -



2016 XOP — 90729 1ONVY

10 NNV

1IN NN DY ONNID NNON PN 10 NORYY IPNA

b > .

h [272>—

10 AYNVY N

NDIYNN NN RN (OORIN 717M0PYIIINY MY) VHDL nava Tip 11D (3 20)
DY WNNWNDY MIXN 3N .NDIYNN DI DY NN NIAY THR ONIOND PONNI wnnwn

. 1MOLPYIIIND PAPN TONA

.10 IDNRYWO 91PN DIMIDNT MMND P YNNvn 10NN

fMnbyena
O7ANY MY MHMNN Y ©

- 16 -



	x
	y.pdf

